SIMPLE DIFFAMP
GAIN ANALYSIS

Using Superposition for Vil and Vi2
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eqns = {
mp (-V1) Vi-V2Z  omn2 (Vil-V2)
- + - = — + - »
rop omp ron2 9
Vout mp (~V1) Vout - V2 mn2 (-V2)
-— + -— ZZ — ——  } -— ”
gmp ron2 g
V1-V2 . Vout - V2 2V2
— +gmn2 (ViI1-V2) + ———— +gmn2 (-V2) ==
ron2 ron2 ronl

}

Solve[egns, {V1, V2, Vout}]

Vi V1-V2 - Vout -V2 + Vout
{-gmp V1 - Top = ron2 gmn2 (-V2 +Vil), -gmp V1 - rop ~ ~gnn2 V2 + —
V1-V2 - -V2 + Vout 2V2
“rorp ~9MN2V2+gmn2 (-V2+Vil) + — = ~onT 1

{{Vout > - (-gmn2 ronl ron2 rop Vil - gmn22 roni ron2? rop Vil - 2 gmn2 gmp ronl ron2 rop? Vil -
2 gmn2 gmp ron2? rop? Vil - 2 gmn22 gmp ronl ron2? rop? Vil) / (2 (ron2 + rop) (ronl +
ron2 + gmn2 ronl ron2 + rop + gmp ronl rop + gmp ron2 rop + gmn2 gmp ronl ron2 rop)),
V1 > - (gmn2 ronl ron2 rop Vil + 2 gmn2 ron2? rop Vil + gmn2? ronl ron2? rop Vil +
2 gmn2 ron2 rop? Vil) / (2 (ron2 + rop) (ronl +ron2 +gmn2 ronl ron2 +
rop + gmp ronl rop + gmp ron2 rop + gmn2 gmp ronl ron2 rop)),
V2 > (ronlron2 (gmn2ron2 Vil + gmn2 rop Vil + gmn2 gmp ron2 rop Vil + 2 gmn2 gmp rop? Vil)) /
(2 (ron2 + rop) (ronl+ron2+gmn2ronlron2 +rop +
gmp ronl rop + gmp ron2 rop + gmn2 gmp ronl ron2 rop) ) } }

Vout 5 2 2
Vil = (gmn2 ronl ron2 rop +gmn2< ronl ron2 rop +2gmn2gmp ronlron2 rop- +
i

2 gmn2 gmp ron2? rop? + 2 gmn22 gmp ronl ron2? rop?) / (2 (ron2 + rop)
(ronl + ron2 + gmn2 ronl ron2 + rop + gmp ronl rop + gmp ron2 rop + gmn2 gmp ronl ron2 rop))

Z = ronl +ron2+gmn2ronlron2
rop
1+ ropgmp
ron2 rop
ron2 + rop

Z1 =

Zout =

Vout gmn2 Zout (ronl (1 +gmn2ron2) + 2gmpropZ)
Vil 2 (1+gmp rop) (Z1+Z)

APPROXIMATIONS:

<< ron2

gmn2

gmn2 ron2 ronl << 2gmp ropZ
! rop

— <<

gmp

Z1<<Z

Vout

—— = gmn2 Zout
Vil
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eqns = {
-V2
- rop + gmp (-V1) = “roro +gmn2 (-V2),
Vout Vout - V2 _
- +gmp (-V1) == —org +gmn2 (Vi2-V2),
V1-V2 Vout - V2 i} 2V2
— +gmn2 (-V2) + ——— +gmn2 (Vi2-V2) ==
ron2 ron2 ronl
}
Solve[egns, {V1, V2, Vout}]
Vi Vi-vz gmn2V2, -gmp V1 - vout gmn2 (-V2 +Vi2) + —7\/2“;:20“ ,

{~ompV1- o5 = “ronz rop
V2ivout | 2v2

V1-V2 =
~oro -gmn2V2 + gmn2 (-V2 +VI2) + ron2 = Toni

{{Vout > - (gmn2 ronl ron2 rop Vi2 + 2 gmn2 ron22 rop Vi2 +
gmn2? roni ron22 rop Vi2 + 2 gmn2 ron2 rop® Vi2 + 2 gmn2 gmp ronl ron2 rop? Vi2 +
2 gmn2 gmp ron22 rop? Vi2 + 2 gmn22 gmp ronl ron2? rop? Vi2) /
(2 (ron2 + rop) (ronl+ron2+gmn2ronlron2 + rop+gmpronlrop +
gmp ron2 rop + gmn2 gmp ronl ron2 rop) ),

V1 - (gmn2 ronlron2 (1 +gmn2ron2) ropVi2) / (2 (ron2 + rop)
(ronl + ron2 + gmn2 ronl ron2 + rop + gmp ronl rop + gmp ron2 rop + gmn2 gmp ronl ron2 rop)),

V2 - (gmn2 ronl ron2 (ron2 + rop + gmp ron2 rop) Vi2) / (2 (ron2 + rop) (ronl+ron2 +
gmn2 ronl ron2 + rop + gmp ronl rop + gmp ron2 rop + gmn2 gmp ronl ron2 rop) ) } }

Vout

Vi2

- (gmn2 ronl ron2 rop + 2 gmn2 ron22 rop +gmn22 ronl ron22 rop +2gmn2 ron2 rop? + 2 gmn2 gmp
ronl ron2 rop? + 2 gmn2gmp ron22 rop? + 2 gmn22 gmp ronl ron2? rop?) / (2 (ron2 + rop)

(ronl + ron2 + gmn2 ronl ron2 + rop + gmp ronl rop + gmp ron2 rop + gmn2 gmp ronl ron2 rop) )

Z = ronl +ron2+gmn2ronlron2

rop
72l = ——8 —
1+ ropgmp
ron2 rop
Zout = ——M8M
ron2 + rop
Vout -gmn2 Zout (Z+ron2 +2rop +2gmpropZ)
Viz = 2 (L+gmp rop) (Z1+ Z)

Total Expression due to both sources:
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mn2 Zout (ronl (1 mn2 ron2 2gmpropZ
Vout=g ut ( (1+9 ) +2gmp p)Vil—

2 (1+gmp rop) (Z1+2)
gmn2 Zout (Z+ron2 +2rop +2gmpropZ)

Vi2
2 (L+gmp rop) (Z1+ 2)
gmn2 Zout (2gmp rop Z) Vil gmn2 Zout (ronl (1 +gmn2 ron2)) Vil
= i il-
2 (1+gmp rop) (Z1+2) ¥ 2 (1+gmp rop) (Z1+2)
gmn2 Zout (2gmpropZ) . _ gmn2 Zout (Z +ron2 +2rop) Vio
2 (L+gmp rop) (Z1 +2) B 2 (L+gmp rop) (Z1+ 2)
2 Zout (2 z 2 Zout
) gmn2 Zout (2gmp rop Z) (Vil-Vi2) + gmn2 Zou
2 (1+gmp rop) (Z1+2) 2 (1+gmp rop) (Z1+2)
(Vil (ronl (1 +gmn2ron2)) -Vi2 (ronl+2ron2+gmn2ronlron2+2rop))
mn2 Zout (2 gmp rop Z mn2 Zout (ronl (1 +gmn2 ron2
-9 (COMPTOPZ) \vi1_viz) + 2 (ron (1 +9 D vi1-viz) -
2 (1+gmp rop) (Z1 +2) 2 (1+gmp rop) (Z1 +2)
2 gmn2 Zout (ron2 + rop) Vio

2 (L+gmp rop) (Z1+2)



